= SIGNGEER

FOR THE PROFESSIONAL SIGNMAKER

HEAVY DUTY WALL RACK

20 ROLL CAPACITY

5x M8 x 40

Socket Button

Screws with 810mm
Z M8 Spring Bars
H Washers

810mm
Bars
= 5x M8 x 40
I Socket Button
Screws with
i M8 Spring Component List
Washers 10 x M8 x 40mm Socket Button Screw

10 x M8 Spring Washers

5 x Loop Poles
2 x 810mm Bars with Holes
1 x 6mm Allen Key

Assembly Instructions
Lay out parts as shown. During assembly leave all of the bolts loosely tightened until all of the parts are
assembled, then tighten them being careful not to stress the metal. A spring washer goes with every screw.

We are continually improving and modifying
our product range and reserve the right to vary the

specifications without prior notice. All dimensions SIGNGEER.CUM

and weights quoted are approximate and we accept
no responsibility for variance. E&OE.




